‘e
.0 Woriiag equations from a graph or from set of information ,P Pﬂ &

Eovamgles: Wik a guasdiatie equation o tunction i Vertex Form: ‘a‘ (¥)=y=alx- J’ijl +k
Py

L how the verey ot a paabola, (A ). then you still need at least one other point on the parabola in order
AR LR ] -u.\;kl..tl.h."'t'l
U e vt oo and Gl i all the information you have,

Ui v thee pont o the pacabola and substitute in for v and y.
T LR (4T

& & & &

W v final squiation

n = h X9
O Naten (A1), passes hmug,h Hl b) Vertex: (-5,3), passes through (-1,=29)

N Y@ (x-d)'+ ) y:a (x¥3)'+3 plaginvesteso

N /3ma (4-2) +! 29 Fa R R plgiipeint
a(d +I ~%
2 3= 4a+| “32 = a (4}
& 12 = Qa4
g 3= a

L 4

L]

Y =3(X) | Y= 2( x¥d*+3

Examples: Woe the equation of cach parabola based on the information in the graph. Follow the steps
outhed above. Leave th\ equations i Vertex Form.

: (O;Q W\'Cb(. _ "4

-9 : o " q q"'}b‘k J .
‘T‘Sl." Y==(x-0)+ §= 4 = a -y-‘q(X-TS'B
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Examples: Write a quadratic equation or function in Factored Form: !f[.r] =v=a(x-p)x }cf)

A,pfbbnf-

Use the factored form if you know the roots (a.k.a. solutions, X-intercepts, zeros). You will still need to know at

least one other point on the parabola in order to write an equation.

e Use the factored form and fill in all the information you have.

o Solve for a.

¢  Write your final equation

X
a) Roots: Igﬂ]&[jﬂ} goes through [2-—‘41]

= Y= & (x3)(x+2)
“4 = a (23)(2+2)

“4= QD
- = -da

V= a

y = (-3 )X¥2)

P 4 x Y
c) Zeros: x=-1& x =3, goes through (6,- 0)

y= & (}D0e3)
—\O =& (D=3
Go = a (N
—-\0 = 2la
= QO

y= 2% (D e3)

Mg

- X
e) Solutions: x=38i & x=-8i, passes through (-2, -?04}

a (x—-B(X+BL)

4 +o4
=208 = pa

e Then use the point on the parabola and substitute in for x and ».

X

? -
b) g-intergept: (3,0) & (=2, 0). goes through (0, 12

T y=a (x-?b()('lﬂb
12= o (6-3) (et2)

\2= a 3X2)
2= 6O
e =G
-2 = a

Y= - 2(x-3) x+ 2)

P 9. Xx

d) Roots: x=+7 &x= ~J7, goes through (=6, 2?3]
¥ T (xATIRHT)
29 = o (=17 Y ) FoTL

36 -I'{rfrzl"-wfff --{;ﬁ,
29 = 2449

|= a

' 3-_—_-, (x-f-ﬁ Cx-t—-{-'-,‘) |

!

204 = @ (2-80)(-2+81) FerL
o (U oy o — M

“3oa Y3 (x-80) (e 8i)
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Eaawptens Wik the equation of each parabola based on the information in the graph. Leave the equations in

Paviwied b m‘ 5 Q)
ll‘. F b hl I .. .l —i {a{ il . |
' !

115

P

o Y /B
= ad)(x0) Y =R O 3)
/ -g: A (244 (_L—(,) q= &(ai”b (,o-%j
o ?.;t‘:ldn 9 = & (3X-3)
PP o = =4
-) =q

* 9= £ O x-0) Y = — (3) (3D

Eaa + Write a quadratic equation or function in Standard Form: = ax?
wjples q eq m: f(x) =gx*+bx+c

(I;"‘

o gl wiorte the equation in either Vertex Form or Factored Form (whichever seems easier)
i 2 — ) | — . i ;
e Then wse vortect order of operations to multiply/distribute in order to get rid of parenthesis
o Lt the theee terms in correct order: x2, then x, then the constant term L

a) Use the graph just above to write the equation inStandard Form
N= = (x+3)[ x>

2= (X*-3x43%-9)

Y —x%=9q

Ny Wiite one of the verteX fo . [Tations ||];‘& ni:lard Form 1 =3 ‘1,—' 12 _,‘_1-2._\,,\
N=3(x-2)"+ _ - -
¥ 7 Bl Y2 ) ! \1— 3K —1‘2.}{%'1':5} .
¥ 3 (K —agelx e ) H
3 Write the equation with tht following characteristics in Factored Form, Vertex Form and Standard
Form (ves, we'll need to complete the square to get it into vertex form ©)

Y= -x"%9

oy at (—3.0) and (5,0) and goes through the point (2, —15)
Facwesd stendard verte X
y= alxed )0e5) V= (X3)(6) Y= x®-2X -1S

F:ﬂtﬁnﬂs \’Ht;.q‘-: x&-2X +‘t
EXE-2x Bl ey = (xAY

&: (X-Ty"= I(a'\
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